Times Table Test - 8x Table
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8x 7=
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8x b=

2x 8=
Mx 8=

Bx12=

ODx 8=

8x 4=

Bx 10=
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3x 8=
Bx 5=
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8x 9=

13.] b4+8=
14, 24+8=
15, 88+8-=
16, 16+ 8=
17.] 32+8-=
18, 56+8=
9., 8+8-=
20, 96+ 8=
21| 48+ 8=
22.| 40+8=
23| B0+8-=
24, 72+8=




ANSWERS

Times Table Test - 8x Table

Check

Check

1. Bx7= 56
2 Bxb= 48
3. 2x8= 16
-‘fl.l Mx 8= EEI
5| Bx12= |96
6. Ox8= 0
7. Bxd= 32
8  8x10= |80
9. 8x8= b4
10.] 3x8= 24
11.I 8x5= ﬂﬂl
12 8x9= 72

13 64+8= | 8
14| 24+8= | 3
15.] 88+8= |11
16| 16+8= | 2
17, 32+8= | 4
18| 56+8= |7
19. 8+8= 1
20.| 96+8= 12
21.| 48+8= | 6
22.| 40+8= |5
23.| 80+8= |10
24| 72+8= | 9




